Page 1 of 4

Contract ID: 15446 Counties: MONMOUTH

Letting Date: September 03, 2015 District(s): C4

Call Order: 446 Project(s): STATE

Contract Time: 02/15/17 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Shark River and Shark River Spur

Line No / Item ID Item Description		(1) MOBILE DREDGING & PUMPING CO		(2) WEEKS MARINE INC		(3) SEVENSON ENVIRONMENTAL SERVICES INC		
Alt Set / Alt Me	mber Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		cellaneous		Cat Alt Set:		Cat Alt Member:		
0001 151006	M	1.000	48,000.00000	48,000.00	65,000.00000	65,000.00	72,147.55000	72,147.55
PERFORMANCE PAYMENT BOND	BOND AND	DOLL						
0002 152004	.P	1.000	10,000.00000	10,000.00	3,000.00000	3,000.00	21,683.45000	21,683.45
OWNER'S AND C PROTECTIVE LIA INSURANCE		DOLL						
0003 152015	;P	1.000	5,000.00000	5,000.00	1,000.00000	1,000.00	5,825.63000	5,825.63
POLLUTION LIAB	ILITY INSURANCE	DOLL						
0004 153009	P	(1)	4,000.00000	4,000.00	40,000.00000	40,000.00	5,630.53000	5,630.53
BAR CHART PRO SCHEDULE AND		LS						
0005 154003	BP .	(1)	759,840.00000	759,840.00	3,000,000.00000	3,000,000.00	1,962,439.96000	1,962,439.96
MOBILIZATION		LS						

Page 2 of 4

Contract ID: 15446 Counties: MONMOUTH

Letting Date: September 03, 2015 District(s): C4

Call Order: 446 Project(s): STATE

Contract Time: 02/15/17 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Shark River and Shark River Spur

Line No / Item ID Item Description		(1) MOBILE DREDGING & PUMPING CO		(2) WEEKS MARINE INC		(3) SEVENSON ENVIRONMENTAL SERVICES INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Miscellaneous	Cat Al		t Set: Cat A		It Member:	
0006	158060M	80.000	60.00000	4,800.00	125.00000	10,000.00	135.42000	10,833.60
CONSTR	RUCTION DRIVEWAY	Т						
0007	605201P	1,400.000	18.00000	25,200.00	12.00000	16,800.00	5.66000	7,924.00
SAND FI	ENCE	LF						
8000	155003M	1.000	16,000.00000	16,000.00	30,000.00000	30,000.00	80,445.05000	80,445.05
FIELD O	FFICE TYPE A SET U	IP U						
0009	155021M	10.000	2,000.00000	20,000.00	30,000.00000	300,000.00	28,863.96000	288,639.60
FIELD O MAINTE	FFICE TYPE A NANCE	МО						
0010	157004M	1.000	20,000.00000	20,000.00	75,000.00000	75,000.00	113,858.22000	113,858.22
CONSTR	RUCTION LAYOUT	DOLL						

Page 3 of 4

Contract ID: 15446 Counties: MONMOUTH

Letting Date: September 03, 2015 District(s): C4

Call Order: 446 Project(s): STATE

Contract Time: 02/15/17 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Shark River and Shark River Spur

Line No / Item ID Item Description		(1) MOBILE DREDGING & PUMPING CO		(2) WEEKS MARINE INC		(3) SEVENSON ENVIRONMENTAL SERVICES INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0011	158072M	2.000	500.00000	1,000.00	5,000.00000	10,000.00	2,565.66000	5,131.32
OIL ONL TYPE 1	Y EMERGENCY SPI	LL KIT, U						
0012	161003P	(1)	5,000.00000	5,000.00	282,000.00000	282,000.00	26,421.10000	26,421.10
FINAL C	LEANUP	LS						
0013	MMG014M	101,494.000	11.00000	1,116,434.00	16.50000	1,674,651.00	9.64000	978,402.16
DREDGI	NG	CY						
0014	MMG015M	101,494.000	26.90000	2,730,188.60	30.00000	3,044,820.00	29.04000	2,947,385.76
DREDGI PROCES	ED MATERIAL SSING	CY						
0015	MMD037M	10.000	500.00000	5,000.00	4,000.00000	40,000.00	514.06000	5,140.60
DISPOS	AL OF LITTER/DEBR	RIS T						

Page 4 of 4

Contract ID: 15446 Counties: MONMOUTH

Letting Date: September 03, 2015 District(s): C4

Call Order: 446 Project(s): STATE

Contract Time: 02/15/17 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Shark River and Shark River Spur

Line No / Item ID Item Description		(1) MOBILE DREDGING & PUMPING CO		(2) WEEKS MARINE INC		(3) SEVENSON ENVIRONMENTAL SERVICES INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		3	Cat Alt Set:		Cat Alt Member:			
0016 CONSTI SIGN, 6'	159018M RUCTION IDENTI X 12'	2.000 FICATION U	1,000.00000	2,000.00	5,000.00000	10,000.00	4,584.84000	9,169.68
	MMG016M ED MATERIAL PORTATION	152,241.000 T	18.90000	2,877,354.90	5.00000	761,205.00	18.87000	2,872,787.67
Sect	ion Totals:			\$7,649,817.50		\$9,363,476.00		\$9,413,865.88
Contract Totals			\$7,649,817.50		\$9,363,476.00		\$9,413,865.88	
Cost Plus Time Totals			\$7,649,817.50		\$9,363,476.00		9,413,865.88	

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 446 Contract ID: 15446 Counties: MONMOUTH

Letting Date: September 03, 2015 10:00AM District(s): C4

Contract Time: 02/15/17 COMPLETION DATE

Contract Description: Maintenance Dredging for Shark River and Shark River Spur

Project(s): STATE

Rank	Vendor ID)/Name	Total Bid	Percent Of Low Bid
1	M6019	MOBILE DREDGING & PUMPING CO	\$7,649,817.50	100.00%
2	W2160	WEEKS MARINE INC	\$9,363,476.00	122.40%
3	S2919	SEVENSON ENVIRONMENTAL SERVICES INC	\$9,413,865.88	123.06%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,